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1kg-221b

1 kilogram s approximately equal to 2.2 pounds

Use this fact to complete the conversions.

@ 2kg -] b o kg=221b
b) 4kg -] b 0 221bs- kg
9 Skg~| b 9 kg=2201b
@) 05kg~ b h 25009~ Ib
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A dog weighs 25 kg.

) Approximately, what is the weight of the dog in pounds?

b) There are 14 pounds in a stone.

Approximately, what is the weight of the dog in stones
and pounds?
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Use this fact to complete the conversions.

) 2 pints = me 1=5 pints
b) 4 pints ~ m ) se8mi~ pints
9 5 pints = mo 9 pints = 56.8 1
) 0.5 pints - ml h) 20 pints = |
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) The capacity of a barrel is 11.36

) Approximately, what is the capacity of
the barrel in pints?

b) There are 8 pints in a gallon.

Approximately, what is the capacity of the barrel in gallons?

) A set of scales is balanced.

What is the weight of the box? Give your answer in pounds.

) A milkman delivers 50 pints of milk a day.

How many litres of milk does he deliver in a full week?

) The average weight of a newborn baby is 7.5 Ib.
Dora weighed 3.5 kg when she was born.
Did Dora weigh more or less than the average
weight when she was born?
Approximately, how much more o s than the average did
she weigh?
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7a. Which weight is the odd one out?
Why?

1.65kg 1.1lbs

« Two bags of flour
«  Five packets of biscuits
« Sixtins of beans

7b. Which weight is the odd one out?
Why?

0.25kg 0.9bs 10009

- Eight packs of spaghetti
« Six bags of sugar
«  Two tins of syrup
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8a. Use all four digit cards to find four 8b. Use all four digit cards to find four
different solutions to this statement. different solutions to this statement.

2.5 pints < ml 22 pints < ml < 2.8 pints
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9a. Hana needs 50 inch lengths of ribbon
to wrap presents. Ribbon is sold in ém
spools.

Justin says,

“You will be able to wrap 5 presents with
one spool of ribbon.”

Is Justin correct?
Explain why.

9b. Marsha needs 3.5m of wood for her
window box. Wood is sold in 40 inch
planks.

Xin says,

“ You will need to buy 3 planks of wood
so you have enough.”

Is Xin correct?
Explain why.
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Use this fact to complete the conversions.

inches - 7.5 cm

inches

) 2inches - n o
b) 4 inches ~ n 0 25an-
9 5inches~ n 9

inches = 22.5 cm

d) 05 inches = m B 1m-

inches
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2a. True or false? 2b. True or false?

If 1 inch = 2.54cm, 10 inches = 25.04cm. If 2 inches = 5.08cm, 20 inches = 50.8cm.
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3a. If 10 pints = 5,680ml, how muchis
equivalent to 1 pint? Circle the comrect
measurement.

56.8ml  5,8600ml

68.5ml 568ml

3b. If 30 pints = 17,040, how much is
equivalent to 3 pints? Circle the correct
measurement.

1,704ml  1,740ml

17,004ml  1,470ml
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4a. Fill in the blank below. 4b. Fill in the blank below.

If 1 inch = 2.54cm, ten ducks will measure | If 1 inch = 2.54cm, one book will measure
cm. cm.

10 inches

10 inches
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2a. Use all four digit cards to find two 2b. Use all four digit cards to find two
different solutions to this statement. different solutions to this statement.

1 pint = 568ml 1 pint = 568ml

9 7

10 pints > ml 2 pints < ml < 4pints
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There are 12 inches in 1foot. . blsiogee
Tommy is 4 feet 8 inches tall.

aftgin
@) What is Tommy’s height in inches?





